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Plot Sensor and FgRec Data
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TERRHLER 2 STEIEARTF (187.0 :

ZRIALBRIERE150. 0 ml.

B RECE (2665. 0 vs 3465.0) FES

150.0), FAEEHT—@ % XA HS
AEREMEC (2665.0) 5i%EEC (2000.0) RELK KA, /T
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ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=38 (2025-05-10)
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P3-10

BfiE) | FEBEETHC (FY) | EB=E (EH/FK) | XK TR
11:15 288 150.0 |/INfu| {Ri&e11:15 Bah (GRE{ERSR)
2it| 288.0 (1)k) 150.0 32353 KEC: 2080.0, PH: 6.0

TERRHLER 2 STEIEARTF (187.0 :

ZRIALBRIERE150. 0 ml.

HEERECE (2620. 0 vs 3480.0) FS

150.0), FAEEHT—@ % XA HS
AEREMEC (2620.0) 5i%EEC (2000.0) RELK KA, /T




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)
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P3-10_0, Day=37 (2025-05-09)
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Warning: lcol ["WC1',  "WC2'] missing
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m=530, FV0=0 m=530, FV0=0
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P3-10
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08:50 288 130.0 |Z=| 1Ri&e08:50 Bz (KPA{EEEE)
10:35 288 130.0 (2 =| 1BRi%@10:35 Bz (kAFERSE)
11:45 288 130.0 RS Ri%e11:45 Bz (REERESR)
13:00 288 130.0 | =| 1Ri&e13:00 Bz (KBEEE)
14:15 288 130.0 (Z=| 1Ri%e14:15 Bz (REERSE)
24t]1728.0 (6%) 780. 0 3ESHKEC: 2080.0, PH: 6.0

TERRHER 2 STEEART (187.0 :

ZRIASEPRIERE153. 0 ml.

large discrepency for begining water status (141:288.0), set to 141 ml.

153.0), AIEEHT—@ % XA HS
LoRGERRETC (288) 574 (245. 0) FF, FIREHI T & MG EIRS £ XER

REREEBIEC (2625.0) H5iZEEC (2000.0) REKK, HHE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=36 (2025-05-08)
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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